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Archimedes
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Drehwaage
Stellung A Stellung B

Aufhéngung ................................................. Sch”’m
mit Spiegel

Pendel in Ruhe
F = _FGrav — FTorsion ~ _ZFGI‘EW

F = Fgrav — Frorsion = 0
:M//J ' ... for kIeine‘AusIenkungen
N L= M e 74=R1LF
Z%R@c B 5, &8 1= 2(mR7) RN
=) G TN 4 x<2% L
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Fur die Position des Lichtzeigers ergab die Messung:

0.015kg t/s 0 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90

1.5kg

Sem s/Skt. 0 0.5 1 1.5 2 3 4.5 6 8 9.5

4cm

Lam t/s 100 | 110 | 120 | 130 | 140 | 150 | 160 | 170 | 180 | 190
s/Skt. || 11.5 | 135 16 | 18 | 205 | 23 | 255 | 28 | 30 | 325
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